


dneKTpuUYecKnim Tpummep Spec GT-1200

Homep Ha pucyHke

ApTUKYnN

HanmeHoBaHue ToBapa

1 CGT1200.00-0001 |laiKa KpenneHua HoXa

2 CGT1200.00-0002 |Hox

3 CGT1200.00-0003 |MnactuHa

4 CGT1200.00-0004 [Konbuo

5 CGT1200.00-0005 [CanbHuK

6 CGT1200.00-0006 [Ban peagykTopa

7 CGT1200.00-0007 |Bepyuwian wectepHs

8 CGT1200.00-0008 [MpoknagKa

9 CGT1200.00-0009 [Kopnyc peaykTopa

10 CGT1200.00-0010 |[LWaiba

11 CGT1200.00-0011 |[LecTepHs peaykTopa

12 CGT1200.00-0012 |[laitka

13 CGT1200.00-0013 [Konbuo

14 CGT1200.00-0014 |bonT

15 CGT1200.00-0015 |Koneco

16 CGT1200.00-0016 |/lecka P2.0¥5000mm

17 CGT1200.00-0017 |KaTyLwKa c fieckoi

18 CGT1200.00-0018 |[MpyxKnHa

19 CGT1200.00-0019 |BepxHAA KpblWKa Wnyam
20 CGT1200.00-0020 |[Moagknaaka

21 CGT1200.00-0021 |Ocb

22 CGT1200.00-0022 |BOPTUK 3aLMUTHOIO KOXKYyXa
23 CGT1200.00-0023 |OTpe3HOM HOX NeCKU

24 CGT1200.00-0024 |3aLWMTHbIN KOXYX

25 CGT1200.00-0025 |CKoba KpenaeHusa TPYOKM K 3aLLUTHOMY KOMKYXY
26 CGT1200.00-0026 |AntomuHMeBan WTaHra B cbope ¢ N1acTUKOBOM TpybOKoi
26,1 CGT1200.00-0026,1 |BbixogHoe KonbL,O
26,2 CGT1200.00-0026,2 [MnactukoBan TpybKa
26,3 CGT1200.00-0026,3 |AntommMHMeEBas WITAHra
26,4 CGT1200.00-0026,4 |(OeTanb

27 CGT1200.00-0027 |Ban HMxKHMIA L=784mm

28 CGT1200.00-0028 [Pyuka

29 CGT1200.00-0029 [CoeauHutens

30 CGT1200.00-0030 [MepexoaHuK

31 CGT1200.00-0031 |Ban BepxHuit L=584mm

32 CGT1200.00-0032 |[LUTaHra BepxHAs B cbope € NAaCTUKOBOMN TPyOKOM
32,1 CGT1200.00-0032,1 [LWaiba
32,2 CGT1200.00-0032,2 |(OeTanb
32,3 CGT1200.00-0032,3 [MnacTtnkoBas TpybKa L=519mm
32,4 CGT1200.00-0032,4 [LWTaHra HUKHAA

33 CGT1200.00-0033 [BepxHAA YaCTb Py4Kn

34 CGT1200.00-0034 [HwmKHAA YacTb pPyYKM

35 CGT1200.00-0035 |BtynkKa

36 CGT1200.00-0036 [[deTanb perynnpoBoyHas
37 CGT1200.00-0037 |OepxaTenb

38 CGT1200.00-0038 |Bepgywuii Ban




39 CGT1200.00-0039 |detanb

40 CGT1200.00-0040 |Beaywmii Ban

41 CGT1200.00-0041 |[MepeaHunit KOXKYX ABuratens
42 CGT1200.00-0042 |PoTop

43 CGT1200.00-0043 |CraTtop

44 CGT1200.00-0044 |LWeTKoaepxatenb

45 CGT1200.00-0045 |UWeTkn

46 CGT1200.00-0046 |3agHWiM KOXyX ABUraTenn
47 CGT1200.00-0047 [KpblabyaTtka

48 CGT1200.00-0048 |/leBblit Kopnyc

49 CGT1200.00-0049 |Bbikntoyatenb

52 CGT1200.00-0052 [CoeauHutens

53 CGT1200.00-0053 [|[deTanb KpenneHua

54 CGT1200.00-0054 |KpenneHue Kabens

55 CGT1200.00-0055 |3awuTa Kabens

56 CGT1200.00-0056 |CeTeBol Kabenb

57 CGT1200.00-0057 |MpaBbIt Kopnyc

58 CGT1200.00-0058 [Kypok

59 CGT1200.00-0059 |MpyxuHa @0.6x22mm
60 CGT1200.00-0060 |Yronok

61 CGT1200.00-0061 |KHonNKa 6/10KMpPOBKHU

62 CGT1200.00-0062 |MNomexonogasnaatowmn GunbTp
63 CGT1200.00-0063 [TopcMoHHAA NpPYXMHA
64 CGT1200.00-0064 |[OeTanb KpenneHua

Bl CGT1200.00-00B1 [MuH 2*16

B2 CGT1200.00-00B2 |laitka M10*1.25

B3 CGT1200.00-00B3 [CanbHuK

B4 CGT1200.00-00B4 |BuHT M5*12

B5 CGT1200.00-00B5 [LUaib6a

B6 CGT1200.00-00B6 [MpoknagkKa

B7 CGT1200.00-00B7 [AMMoOpTM3ATOP NOALIMNMHUKA
B8 CGT1200.00-00B8 |MoawunnHuK 6201RZ

B9 CGT1200.00-00B9 |[MogwunnHuK 629-Z

B10 CGT1200.00-00B10 |BonT M8*10

B11 CGT1200.00-00B11 |BuHT M5*20

B12 CGT1200.00-00B12 |[MNoawmnnHuk 61900-Z
B13 CGT1200.00-00B13 |demndupytowiee KoabLo
B14 CGT1200.00-00B14 |Oemndupytouiee KoabLo
B15 CGT1200.00-00B15 [CtbiKOBO4YHaa aeTanb
B16 CGT1200.00-00B16 |BuHT ST4.2*12

B17 CGT1200.00-00B17 |BuHT M6*20

B18 CGT1200.00-00B18 |[Mpy*KknHHaA wanba

B19 CGT1200.00-00B19 [Mpoknagka

B20 CGT1200.00-00B20 |3aknenka 4X6

B21 CGT1200.00-00B21 |BuHT M4*10

B22 CGT1200.00-00B22 |[Mpy*KknHHaA wanba

B23 CGT1200.00-00B23 [Mpoknagka

B24 CGT1200.00-00B24 |BuHT M6*14

B25 CGT1200.00-00B25 |BuHT M5*25

B26 CGT1200.00-00B26 |laiika M5




B27 CGT1200.00-00B27 [MuH 3x18

B28 CGT1200.00-00B28 |BuHT M4*12

B29 CGT1200.00-00B29 |Konbuo

B30 CGT1200.00-00B30 |NoawwnnHuk 61900RS
B31 CGT1200.00-00B31 |MUronbyaTbit noawmnHuMK HKO608
B32 CGT1200.00-00B32 |[BuHT M5x70

B33 CGT1200.00-00B33 |NoawwnnHmk 6000RS
B34 CGT1200.00-00B34 |MoawmnnHuk 6087
B35 CGT1200.00-00B35 |BuHT ST2.9X10

B36 CGT1200.00-00B36 |Konbuo

B37 CGT1200.00-00B37 |BuHT ST4.2X15

B38

CGT1200.00-00B38

BuHT ST4.2*15




